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INSTRUCTIONS TO CANDIDATES  

Answerfour questions in all. 

Section A is compulsory. 

Answer three questions from section B. 

Any additional question(s) attempted will not be marked. 

Credit will be given for use of relevant sketch maps, diagrams and specific examples. 
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SECTION A 

1. Study the table below showing exports from the republic of South Africa (1998 – 2003) 

and answer the questions that follow. 

Year Sugar exports 

(Thousand metric tonnes) 

1998 1,230 

1999 1,140 

2000 1,470 

2001 1,540 

2002 1,170 

2003 1,000 
 

Adopted: 2005 Africa development indicators, the World Bank, Washington DC P. 99. 
 

a) Draw a divergence line graph to show the information given in the table. (12 marks) 

b) Outline the demerits of using the statistical method in (a) above.   (02 marks) 

c) Describe the trend in the sugar exports in the Republic of South Africa between 1998  

and 2003.          (03 marks) 

d) Examine the implications of sugar growing on the environment in the Republic of  

        South Africa.          (10 marks)  
 

SECTION B 

2. Describe the measures being taken to improve the animal husbandry in either 

Botswana or Algentina.         (25 marks) 
 

3. Account for the development of the forestry industry in either Brazil or Canada.  

(25 marks) 

4. Examine the impact of urbanization on the environment in either Rwanda or India.  

(25 marks) 

5. To what extent has low level of technology hindered the development of the fishing 

sector in either Namibia or Peru?       (25 marks) 
 

6. Explain the factors which have influenced the distribution of industries in either China 

or USA.           (25 marks) 
 

7. Account for the development of railway transport in either South Africa or Zambia.  

(25 marks) 

8. ‘The development of the tourist industry in Egypt is mainly due to physical factors.’ 

Discuss.           (25 marks) 

- End  -  


